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1. Find the limit: lim 3 = no
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2. Find the limit: lim G)m = L (—’3) >l = 0
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3. Find d—y Assume y is a differentiable function of x.
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For problems 4-10, find f'(z).

4. f(z) =e"sinzx
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7. f@)= (@' = X e

{6 = X €™ + X" (re™)

8. f(z) = (¥ +e)z
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10. f(z) =In((52° +9)°) = Z 4, (§)< 2, c;)

(%)= 300 [Box
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For problems 11-20, find the indefinite integral (you may need wu-substitution).

11. /ef’fdx = @X+C

12. /ax dz, where a > 0 is a constant (# 1).
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14. /idx :)ZL/X/v‘C

15. /egxdx =

|
16. /ﬂdx =
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17./—“2(@(11: = fu‘/zofu - %u%-LC :)%jm&/s/ﬁC

w=Lbely/
An =% dy
18./\/%@5 = — f\ﬁd"“ = - 2Ju+C 1L‘ZW@X_+C
U= |-~
—du = -(—exAX)
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0. [giat = [Sd = AuliC

k= 2tk = /Z‘ /8+ex +C

du = ¥dy

3 x?
21. Evaluate the definite integral: / % dx
2

n=x* w(z) =4 u(3)=9
Au = 2xdx
=7 du. = =—Zdy

gl = ferds < JefTeY




